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Jl 1,888,268
s 58,400
01 A& HI 5,370,668 714,000 4,656,668
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= 3,426,000
J| 1,886,268
[ia 58,400
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OF A (4 H ot =2 HBHI ALY 2,000
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i 128,571
=T ot=22 L XZA 235,714 0 235,714
2 165,000
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401 Al HIZ 201 8] 235,714 0 235,714
= 165,000
s 70,714
01 A& HI 235,714 0 235,714
O ot=22 ZLUXA 235,714
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401 Al HIZ 201 8] 5,000 0 5,000
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OLBUSOISAL &X XA 5,000
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= 1,929
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APPSR 2 (FHFIHNLSEIA) 378,474 159,743 218,731
< 97,566
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e 41,814
101 @124 dl 139,380 128,340 11,040
< 97,566
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O34 gdilstd 2= 80,122
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Il 937,946
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= 877,072
sl 29 1,815,018 2,070,071 A 255,053
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J| 200
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— X E 48 500 x 1 10 485
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OE&8= 100,000 x12& 1,200
J| 600
= 600
201 et 693,606 778,423 N84, 817
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= 370,485
01 AP 2t 2] H| 214,710 284,622 N69,912
OJ=E2aXeld g2 24,050
— 2 Ay 50,000& *116L 5,800
J| 2,900
o 2,900
— = A 50,000 365 18,250
Jl 9,125
= 9,125
OXL0N ElHEIM =2 5502 =300, 000 = 165,000
Omgly E 2¢ 300, 000& =304 900
OEAD U= 230,000 x12& 2,760
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OJIEF AFR2& Bl SXIYI 500
O=sAMEX 7 20,9003 42 A %128 1,004
OMREE F¢ 800
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OArg & AtHl2F 2 100,000& *x23] 200
H) A 2 M 2! 100,000& = 12& 1,200
O=z4a a3 2¢ 300, 000& *23] 600
OBt A DA HE 300& *5,0000H 1,500
OAlY JIA 2 48,000& *4 4 x33] 576
O%=Z A AHH| 50,000& *12& 600
(@RTE==3] 5,600
— &= 200,000 x8H x23| 3,200
— gst= 200,000& x8H 13| 1,600
— &5 50,000& *8H x23] 800
OAlE X222 A2H=2E 22|
500,000& x12& 6,000
Dl 3,000
iy 3,000
Oadga & AN H 29l
250,000& x12& 3,000
Dl 1,500
iy 1,500
S=229H| 478,896 493,801 A 14,905
03322 % XA 365,551
—MIR22 26,000,000& ~12& 312,000
Jl 218,558
2 93,442
— & DoA™ 22| ] 1,431,250 = 12& 17,175
Dl 13,740
2 3,435
—MrER2 3,000,000 x12& 36,000
Dl 18,000
= 18,000
- &2 23,000& x12& 276
— XS XAl 100
Oxs & U |F 21,469
— = 4| 1,317&*2,000¢ 2,634
Dl 1,317
= 1,317
— HolZ2d 1,317&*11,5004 15,146
J| 7,573
= 7,573
—AJ|Z24 1,317& *5004 659
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— XA X+ 1,317& *1,800¢ 2,371
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—JII=EEE33HaAE 948& 13,0004 12,324
J| 6,162
[ia 6,162
— IS AN SAIA 9483 5004 474
OAHZZ &bl 500,000& »15H 7,500

202 oddl 7,000 7,000 0
J| 3,500
e 3,500

01 = LH o4 1l 7,000 7,000 0
ON=E=2a el g2FA 7,000
J| 3,500
[ia 3,500

206 M= Hl 1,084,680 986,201 98,479
J| 594,958
[ia 489,722

01 =8l 1,084,680 986,201 98,479
ONEa ageE 7Y 3,000
J| 2,400
e 600
OH=XeclA*Z 360,630
—0IMS BHSHR P 500,0002 * 122 6,000
J| 4,800
[ 1,200
—STH(ZoI2) 4,190 *110kg*365¢ 168,229
J| 112,640
[ia 55,589
- S8HM(80) 6,200 *1kg*365 2,263
J| 1,810
e 453
— SN0l E 3003 «750kg*365& 82,125
J| 65,700
s 16,425
—Jtaatt 3903 *400kg*365 56,940
| 45,552
i 11,388
— AR 4,000% *10kg*365 14,600
J| 11,680
[ia 2,920
—Bag 2H 12,000& »350EA 4,200
J| 3,360
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— Micro 2H 7,000& +1,200EA 8,400
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s 1,680
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— XY AL 850 x200kg x 12& 2,040
J| 1,630
= 410
Ox2XEH(SE) 30,000 »58m’ x250! 435,000
J| 217,500
= 217,500
OoREFY 23,000€ *3,000& 69,000
OZ&L0tN EHl ZATH 4002 300, 0000H 120,000
J| 60,000
= 60,000
gEHl E2MEs LtAE 16,000 x5, 000K 80,000
J| 40,000
= 40,000
ElH| T 2l 55,000& 3102 17,050
J| 8,500
= 8,550
401 AIEHIZL 201 Y| 10,000 270,000 A 260,000
Jl 8,000
= 2,000
01 Al&H| 10,000 270,000 A 260,000
Oat=S JIE DHEZ DI
10,000,000 » 1Al 10,000
J| 8,000
= 2,000
402 DIZHRFEO0I A 3,000 3,000 0
02 OI2HCH &4 AF S HI 3,000 3,000 0
OFHHAE Ml Al2s 18
2& *15,000,000£ *0.1 3,000
HESAAL (I AEA) 542,665 501,864 40,801
J| 294,737
= 247,928
leEARAY|(FEMAELESH) (=AML EE S H) 542 665 501,864 40,801
J| 294,737
= 247,928
bE2LHE dH2Y 542,665 501,864 40,801
J| 294,737
= 247,928
101 e1214| 526,345 486,384 39,961
J| 286,577
= 239,768
01 E% 385,219 363,651 21,568
o2 272,212
— 6= 3,608,700 x 1 x12& 43,305
J| 21,653
= 21,652
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—7= 2,916,720 x5H x12& 175,004
| 87,502
[ia 87,502
- 9= 1,980,300 x1H x12& 23,764
| 11,882
s 11,882
-S4z 242,071,200& *0.038 9,199
| 4,600
[ia 4,599
—d22Y 20,940,000 20,940
| 10,470
fia 10,470
Oo=¢ 69,980
—=U2FE 19,525
= 9,332 «5H «30Al 2t <123 16,798
| 8,399
e 8,399
- 92 7,5733 x1H *x30A| 2tx12& 2,727
| 1,364
s 1,363
—EY 6,000
AEP 40,0002 ¥5% * 122 2,400
| 1,200
= 1,200
2LIE 20,0003 x15H 128 3,600
| 1,800
e 1,800
—dZ2+E0it= 7,200
20 0] &f 100,000& x4H x 123 4,800
| 2,400
= 2,400
- 158 01 &~20E 0] 2F 80,000& x1&H «12& 960
J| 480
[ia 480
- 1080l &~15 0] F 60,000 x2H 128 1,440
| 720
e 720
—UesRE=E 3,225
52 147,956 x 1@« 123 1,776
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e 888
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J| 1,626
s 1,626




2N BERRAAL L
B2y

HE: HW2ARY (BB AL L)
Cel: QHE2HH (ENESLEIAH)(=EMNESLEEIAH) (&)
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— =L (LE) 50,0003 x7H 128 4,200
J| 2,100
[ia 2,100
—&d+g 270,000& x7H 128 22,680
J| 11,340
s 11,340
— 2R+ 324, 7803 x1H «12& 3,898
J| 1,949
[ia 1,949
O A g A 130,000& +7H 128 10,920
J| 5,460
fia 5,460
OgZE SOt 251,269,906& *1/12%23| *0.6 25,127
J| 12,564
[ia 12,563
OHAHIE 4| 251,269,906 »1/12%1/30% 10 6,980
Jl| 3,490
i 3,490
03 RIAHAZ 22+ 141,126 122,733 18,393
ONEE=NJSANE 29 131,046
—Jl=s 1,340,050 x4H x 123 64,323
J| 40,000
s 24,323
—JlZ=g 1,340,050% 4 H x4 3| 21,441
J| 17,000
= 4,441
— A2tel g 9,450 «4H x 123 x48A| 2+ 21,773
J| 17,000
s 4,773
—522FE 75,6003 x4 x20 6,048
J| 3,024
[ia 3,024
— BE S| 804,030& x4H +23| 6,433
J| 5,000
s 1,433
—Qlx=g 53,6003 x4 x13 2,788
J| 1,394
[ia 1,394
— M Z A 130,000& 4 122 6,240
J| 4,900
s 1,340
— o=l 500,000& x4H 2,000
OEE= 120,000& +7H 128 10,080
J| 5,647
s 4,433
204 M R=HAH| 16,320 15,480 840
J| 8,160
s 8,160
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